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2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH R =ZH| 3,000 3,000 0
ONELRAHZA 3,000
303 Z& 3 6,000 6,000 0
01 243 6,000 6,000 0
OXZgAN == 2= SHS AlY 6,000
308 MXIEHSOIH 40,565 41,147 A 582
10 SIS0 EaXE2AE A 40,565 41,147 A 582
OXEAH BE3AY AE AL 40,565
403 MtXISHH S0l & 99,683 0 99,683
02 S 2SO HEAE X E AL 99,683 0 99,683
02020 XA XL MBEAIAE R=(2EH)
@ EF O &Yl 99,683
405 RHoHE S HI 3,000 7,500 A 4,500
01 et EZFH S 3,000 7,500 24,500
02020@ XEASAH OH 2AE &88Y WE
3 ZHl 7 3,000
NLMES(EX) 2,000 0 2,000
< 2,000
202 O4dl 2,000 0 2,000
< 2,000
01 = LHA YI 2,000 0 2,000
O XNgAN T A2 S8 HAMPEA(ASHED]
) 2,000
< 2,000
e K& AE 54,218 38,698 15,520
201 £B-2dH| 46,818 30,818 16,000
01 At 22l 22,304 17,264 5,040
OXYA Mgt Me ™zl 10,000
OXE&A HMEX SSHAEEXS AEE 2,000
OXYA IIEME E2 =2 2,000
OJ&AHR =2 6,000
o=l 8,000 *4H x0U «8& 2,304
02 =224l 24,514 13,554 10,960
OXYA AL KA B 15,480
KA JtaAH S AIAE RITE | 5,780
KA ARS 2HE Y R2AIAE RAE 2| 9,700
OHsE AL FANES 9,034
NEEME B SIALE FXL2+H| 4,686
SXAAE D& 3 FXE =4l 3,868
DHY XUEEIAMHA SHES
40,000& +x12& 480




2AM: HE D

B GRS
SR YWY ES (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 7,400 7,400 0
01 = LHA YI 7,400 7,400 0
OXNEgAMN §2=e 2HEZE 7,400
Nel+=g2g2el 122,224 83,062 39,162
101 @124 dl 8,247 8,016 231
4 DIt Z2XREES 8,247 8,016 231
OAMzI+=2 Mgas g2 X 8,247
2= 68,7203 x1H 100 6,872
= Ry 68,720 x1H »202 1,375
201 et 15,496 15,700 A 204
01 At 22l 11,620 11,740 A 120
OMl2l=g2tel get=2H| 1,200
OMe=2 Mgt d8FEE X3 3,960
ON2=g HMEA IS 1,130
OM2= DXNAM HZ 70,0002 #3554 A 2,450
Egl 2,880
02 =224l 3,876 3,960 N84
OMe+=g DXN SsEEE
380& *3,400= *33| 3,876
202 04l 6,200 6,200 0
01 = LHA YI 6,200 6,200 0
OAMe+=g Mgd+= dHNEF 4,200
Od+==c] AAET L MA+Y HES 2,000
303 &3 4,000 4,000 0
01 Z&3 4,000 4,000 0
OMe+d = 2=8A & RSX A 4,000
308 XX EHSOIA 23,574 23,574 0
10 B3I/ 2SS BHEEALS I 23,574 23,574 0
OMe+LEEANAE X2l 23,574
403 MtXISHHE X201 & 64,707 25,572 39,135
02 S 2SO HEAEE 2 E AL 64,707 25,572 39,135
OXHICH NEAHA+=LEEAAH” 2= 64,707
N =LA Z AL 136,530 117,393 19,137
101 @14l 43,853 24,716 19,137
04 D12t 22 HEE = 43,853 24,716 19,137
OMNE =EI AT AL (68,7202 x61 *10L ) *50% 20,960
ONEFINAZA RSHELSY
(68,7202 x 13 *10Y ) *50% 4,467
OAZIe =&
8,590& *10Al 2t x3& » 1021 x150%*50% 1,933

_3_




2AM: HE D

B GRS
SR YWY ES (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONgE=E8 N2 FH 9FY 16,493
o 68,7203 x 1 200 13,744
sesgds¥ 68,7203 x 1 x40 2,749
201 L2l 91,077 91,077 0
01 At 22l 91,077 91,077 0
ONg ez ds++2(1.1/6.171F)
137,682,800& *50% 68,842
OFHELINMNES 22352 Y
10,000,000& *50% 5,000
OZ22H EEX 7¢ 5,300,000 x50% 2,650
O22H 23 7¢ 200, 0003 *10& *50% 1,000
OMNEFEIIA ME ASXZAN EXFEY
1,600,000& *50% 800
OMNE=EIA AL & o 2HERHIE
6,720,000 x50% 3,360
OFRs4 IHASAAE =g
2,800,000 *50% 1,400
OMNE =D AR Il =4l
200, 0003 15 «50% 1,500
O= 2| 6,300,000 x50% 3,150
OMg=8 s T2 SAEH|
150,000& =122 *50% 900
OMEFEUINAITA AIRY HZHI(SER)
1,650 x204 *150 *50% 2,475
202 odl 1,600 1,600 0
01 SLHOIYI 1,600 1,600 0
OMNgF=EEHLY XX 20,0003 »4H 20 1,600
HEFEHIAZAH(EE) 144,276 136,532 7,744
= 116,672
Al 27,604
101 @124l 61,141 54,687 6,454
= 33,537
Al 27,604
03 RIAHAZZHE =+ 48,427 44,800 3,627
OMNE =EIIA T AL
(68,720%2H 2512 )+(68,720+2%H 52 ) 41,645
= 20,823
Al 20,822
OX™< M &I 4,720
YEHNOUS 400,000& x2H #23| 1,600
&M Z AlH| 130,000& x2H x12& 3,120
O A It &Hd| 68,7203 x2H 152 2,062
04 JIZHHZ2Z2XNESE S 12,714 9,887 2,827




2AM: HE D

B GRS
SR YWY ES (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OJIZHZ2 22 ==
(68,720 x61 x5 ) x50%+(68,720* 132 5% ) * 12,714
50%
= 12,714
201 L2l 73,635 77,845 24,210
= 73,635
01 At 22l 73,635 77,845 24,210
O NgFe 25 4242 67,533
= 67,533
O SE20At| 5,000
= 5,000
O 4AE88 7¢ 1,102
= 1,102
202 04 Hl 4,000 4,000 0
= 4,000
01 = LHA YI 4,000 4,000 0
O Hg=eEH XA 4,000
= 4,000
405 RHoHF S HI 5,500 0 5,500
= 5,500
01 XL 2 ZF S| 5,500 0 5,500
O g8 =37 5,500
= 5,500
3| HI TH At 2| 1,496,788 6,870,430 A5,373,642
THAt2te] 1,408,405 6,796,680 A5,388,275
2z 25,688 24,300 1,388
101 @124 dl 16,218 14,830 1,388
4 JI2ZHHZ22XEES 16,218 14,830 1,388
OZB"Me JEHEZAL HEEX 16,218
2= 68,7203 x 1 200 13,744
s+ 68,7203 x 14«36 2,474
201 LEr2 Y| 3,470 3,470 0
01 At 2teltl 3,470 3,470 0
OZBF/ML Ao2AAS 70,0003 +7H +33] 1,470
O= 2l 8,000 x5H x50 2,000
301 LPEAF 6,000 6,000 0
09 HALAHIX RS 6,000 6,000 0
O2dE IISdA A28 6,000
zzgMze 1,382,717 2,372,380 989,663
101 14 dl 3,017 5,612 A2,595
M4 JI12ZHZEXNSES 3,017 5,612 A 2,595




2AM: HE D
2 ST At2e

Chels a2t 2| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIZtH 22 EB =+ 3,017
AMEMS SSEAMN HEZZY
71,8303 x6H »33] 1,293
AMEMNS SSEA =& 2el
71,830 x8H 33| 1,724
201 et 977,200 993, 268 A 16,068
02 2324l 977,200 993, 268 A 16,068
Oz&22= & HAl 759,200
NEHA MHol=7 S Al 211,000
sot+=E MEZ 49,740
- Al EA 23,000
- 93 HA 12,000
- 233 BE EAM 12,000
- 7)o H A 2,740
A HIRS 442,600
- Al EA 267,000
- 23 HA 150,000
- 233 B A 18,000
- P)2ASFH A 7,600
OIS AL WY JtARS 40,000
=PI 3,300
SENERE S 1,000
- NS 1,000
HACHE AR NESTT 1,000
Nsi BE8= 10,560
OA&ZH ®Xdl 153,000
Al E A 120,000
ols] HA 33,000
O Xt 65,000
206 M= Hl 22,500 22,500 0
01 =8l 22,500 22,500 0
OM=ZHl 22,500
A2l JIHANEES MY
5,000,000& x 14! 5,000
Azt AY L AFSANLEES ALY
4,000,000& %14 4,000
Azt A2H4EIIEE L JIEAH7EY
7,000,000& x14! 7,000
oI5 FA2el JIAHANEES AW
2,000,000& x 14! 2,000
Sl FAEE AY Y AFZALES NN
= 1,500,000 14 1,500
Sl A2 A2 HIIEE & JIEH &
M= e 3,000,000& =14 3,000
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2AM: HE D
2 ST At2e

Chels a2t 2| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 380,000 1,350,000 A970,000
01 A& HI 377,480 1,336,887 A 959,407
O&EAN B3 A 250,000,000& *99.28% 248,200
OFR)ZEA &4 22LEE A
80,000,000 x99. 1% 79,280
OAMEA RFEA AZAIE U SA
30,000,000 » 14l 30,000
OSSFUXNKHE SESAH(EHEY) 20,000
03 Al 2 THHI 2,520 6,120 A 3,600
O&AM==E L E3AF 250,000,000 x0.72% 1,800
OTR)ZEA &4 22LE A
80,000,000 x0.9% 720
3 A 2el 50,250 50,250 0
A 22 50,250 50,250 0
201 ¢et24l 47,000 47,000 0
01 At 2t 2l 47,000 47,000 0
OZ LA 28+ 100, 000& 5% 20 10,000
OZNN % HERNT o
50,000& 23 120 12,000
OMSEDM 4 U HE £48
8,000,000& 23] 16,000
OZ&FAYAN L XEHAS M2 Q1A
20,000 23 1005 4,000
OZ4& Hetdd selM oaf 20,0002 1005 2,000
OAM=Zoler et & Zab S =2l 3,000
202 044l 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OMEHZ & 2M2H 5 FSMTR 20T 1,000
301 LA F 1,500 1,500 0
09 SALEHIX RS 1,500 1,500 0
OZ A& =0 300,000& x5 «13] 1,500
307 glz2tol & 750 750 0
12 QIO & =] 750 750 0
OZUZAAE AEN|H 2
150,000& »5H * 13 750
Hefate| 38,133 23,500 14,633
Hetze 2 38,133 23,500 14,633
101 @124l 1,237 0 1,237
04 JIZHHZ2Z2XNSE =+ 1,237 0 1,237
OFIITHE XA RFIDER L& JIZ2tHI 22X Al
e 68,7203 x 1«18 1,237




2AM: HE D
2 ST At2e

Sl Herze (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 34,396 23,500 10,896
01 At 22l 17,296 7,900 9,396
OAAMAAEE 2E+=F 70,0008 10F 73] 4,900
ONAADRET S| 3,000
OXXEN O (ety) 300& *30,0004 9,000
Oele HELIX 99,0008 44 396
02 22| 17,100 15,600 1,500
OAzelZ=20d A2+ 550,000& 128 6,600
OotXE AN That SHLHAIAE SAE =
350,000& »12& 4,200
O2ZZCl(RFID HEXAAIAE SFAES
4000002 * 122 4,800
O=&&2l RFID ZE2 08 gd0lE 1,500
405 TtHobF S| 2,500 0 2,500
01 AL EFH S 2,500 0 2,500
ORFID 2l DI 2,500
HY2FZH (A D) 61,900 61,720 180
Jl2ZH (&) 61,900 61,720 180
Jl2ZH(HE 1) 61,900 61,720 180
201 Let24d] 8,000 8,000 0
01 AtR 22l Y| 8,000 8,000 0
O= &l 8,000
202 O4dl 48,200 48,200 0
01 = LH 4 bl 48,200 48,200 0
OMEYN HRF=E Ol 48,200
203 YR =&t 5,700 5,520 180
04 EASIYRFLH 5,700 5,520 180
ORN2EYE=AHI 5,700




